o~

comfort
| products

inc.

OPERATION MANUAL

MODEL 50-100505

SUPPLIER CODE - CH-50-100505
ROTHMIN COMPUTER DESK

/

T

/

CUSTOMER SERVICE

For fastest service, please visit our website at

www.comfortproducts.net/support

e-mail: customerservice@comfortproducts.net

Keep your sales receipt as documentation of your ownership.




CONTENTS
EXTRA SPARE HARDWARE INCLUDED FOR YOUR CONVENIENCE. ITEMS ARE NOT SHOWN TO SCALE.
CONTENU : INCLUS DES PIECES DE RECHANGE SUPPLEMENTAIRES. LES PIECES NE SONT PAS A 'ECHELLE.

CONTENIDO: REPUESTOS DE ACCESORIOS ADICIONALES INCLUIDOS PARA SU CONVENIENCIA. LOS ELEMENTOS NO SE
MUESTRAN A ESCALA.

TOOL REQUIRED: PHILIPS HEAD SCREWDRIVER

PARTS AND HARDWARE LIST

LISTE DES PIECES - PARTES Y LISTA DE ACCESORIOS

DESCRIPTION STOCK# DESCRIPTION STOCK# Qry.
DESCRIPTION REFERENCE # DESCRIPTION REFERENCE#  QTE.
DESCRIPCION CODIGO # DESCRIPCION CODIGO # (@.\\IN
1 Desk Top 51-100505DT
1M Cabinet Back 51-100505CBK
2 Keyboard Tray é) 51-100505KT /
12 Small Drawer ’ 51-100505SDF
Front |
3 Printer Shelf Q 51-100505PS
13 | omall Drawer \ 51-1005055DL
Left
4 | Bottom Shelf @ 51-10050585
Small Drawer \
14 Right . 51-100505SDR
5 Back Board % 51-100505BB /
15 small Drawer / 51-100505SDB
Back /
6 | BookShelf @ 51-100505KS
16 DrawerBottom Q 51-100505DB
7 | CabinetTop 51-100505CBT
17 Large Drawer 51-100505LDF
Front
8 Cabinet Base \ / 51-100505CBS
Large Drawer
9 Cabinet Wall 9 51-100505CW9 18 Left 51-100505LDL
. . 51- Large Drawer )
10 CabinetWall10 100505CW10 19 Right 51-100505LDR




PARTS AND HARDWARE LIST

PIECES ET LISTE HARDWARE - PARTES Y LISTA DE HARDWARE

DESCRIPTION
DESCRIPTION
DESCRIPCION

Large Drawer

STOCK#
REFERENCE #
CODIGO #

QrTy.
QTE.
CANT.

20 Back 51-100505LDB 1

21 | Right Stand 51-100505RS | 1

22 | RearBar / 51-100505RB | 1
r\

23 Brace \ 51-100505BRC 1
|\i

24 | PostswithRollers % 51-100505PR | 1

25 Rectangle Post I 51-100505REP 2

26 | Extenders % 51-100505EX | 2

27 | Hanger @ 51-100505HG | 1

28 | DrawerHandle & 51-100505DH | 2

29 | Caster 51-1005CAST | 4

30 | printerStand (&% 51-1005PSF | 2

astener
31 Leg Cap é 51-1005LC 2

DESCRIPTION

DESCRIPTION
DESCRIPCION

STOCK#
REFERENCE #
CODIGO #

32 | Disk @ 51-1005DK 4
33 Printer Stands 51-1005PST 1
342 | elers \ 51-1005LR34A | 2
34b \ 51-1005LR34B | 2
358 | s / 51-1005RR35A | 2
35b 51-1005RR358 | 2
/
A | Gam m CAM 16
B Cam Lock % CAMLOCK 16
N
ST
C | M5x60 @/‘” M5X60MM | 12
D | M5x70 M M5X70MM 2
W
E M6 x 30 @\\\\\\\‘““\\ M6X30MM 3
W)
F M6 x 40 @\\\\\\W\““ M6X40MM 7
G | M4x1s o mxasmm | 4
‘\\\\\1
H | M4x35 M4x35MM 8
W
M4 x 12 %\‘“‘“ Max12MM | 36
y | Mox80 M M6X8OMM | 2
K | M6x10 g M6X10MM 12
W)
L M8 x 30 @\\\\\\\“‘“\ M8x30MM 4
M | HexWrench % HW4 1

REPLACEMENT PARTS
IF YOU ARE MISSING ANY OF THE PARTS ABOVE, OR

IF YOU HAVE A DAMAGED PART, PLEASE VISIT WWW.
COMFORTPRODUCTS.NET/SUPPORT AND REFERENCE THE

SUPPLIER CODE ON THE FRONT OF THIS MANUAL. SIMPLY
COMPLETE THE INFORMATION, AND THE PART YOU NEED.
THE PART WILL NORMALLY SHIP WITHIN 48 HOURS.




ASSEMBLY INSTRUCTION (50-100505)
DO NOT TIGHTEN SCREWS UNTIL COMPLETELY ASSEMBLED

NOTICE DE MONTAGE (50-100505) NE PAS SERRER LES VIS AVANT LE MONTAGE COMPLET
INSTRUCCIONES DE MONTAJE (50-100505) NO AJUSTE LOS TORNILLOS HASTA QUE ESTE COMPLETAMENTE ARMADO

STEP / ETAPE / PASO 1 oo STEP / ETAPE / PASO 2 v
Attach drawer handles (28) to (12) and (17) using screws Attach roller (34b) to (13) using screws (I) as shown. Rollers
(G) as shown. should be on opposite sides of long horizontal cutouts.

Attach roller (35b) to (14) using screws ().
Attach roller (34b) to (18) using screws ().
Attach roller (35b) to (19) using screws ().

Separate rollers (34) into its two parts (34a) and (34b) as shown.
Separate rollers (35) into its two parts (34a) and (34b) as shown.

W Ug
340 > 352

34a35a (220 E — ° e

)

34b/35b ) 2/ 77

STEP /ETAPE /PASO 3 -

Insert the cam locks (B) into (13), (14), (18) and (19)
as shown. Make sure the cam lock opening is facing
the outer holes. Connect the drawer fronts (12) and
(17) using cams (A) as shown. Turn the cams about
1/2 clockwise to lock into place.

|| 3




ASSEMBLY INSTRUCTION (50-100505)
DO NOT TIGHTEN SCREWS UNTIL COMPLETELY ASSEMBLED

NOTICE DE MONTAGE (50-100505) NE PAS SERRER LES VIS AVANT LE MONTAGE COMPLET
INSTRUCCIONES DE MONTAJE (50-100505) NO AJUSTE LOS TORNILLOS HASTA QUE ESTE COMPLETAMENTE ARMADO

STEP / ETAPE / PASO 4

Insert drawer bottom (16) into small drawer as shown. Attach
drawer back (15) using screws (H) as shown.

Insert drawer bottom (16) into large drawer as shown. Insert
hangers (27) as shown. Attach drawer back (20) using screws
(H) as shown.

STEP / ETAPE / PASO 5 oo S —

Attach casters (29) to cabinet base (8) using screws () as
shown.

STEP / ETAPE / PASO 6 ..o B

Attach rollers (34a) to cabinet wall (9) using screws (I) as 34a @ ¢ =0 °

shown.

Attach rollers (35a) to cabinet wall (10) using screws (I) as
shown.




ASSEMBLY INSTRUCTION (50-100505)
DO NOT TIGHTEN SCREWS UNTIL COMPLETELY ASSEMBLED

NOTICE DE MONTAGE (50-100505) NE PAS SERRER LES VIS AVANT LE MONTAGE COMPLET
INSTRUCCIONES DE MONTAJE (50-100505) NO AJUSTE LOS TORNILLOS HASTA QUE ESTE COMPLETAMENTE ARMADO

STEP/ETAPE/PASO7 ... S STEP/ETAPE/PASOS8 . .

Insert cam locks (B) into (9) and (10) as shown.

Attach (9) and (10) to cabinet base (8) using cams (A) as
shown. Turn cam locks to lock into place.

8 ::—=:_1H
STEP / ETAPE /PASO9 ... e
Attach bottom shelf (4) to right stand (21) using screws (D)
as shown.
Dx2

Attach leg caps (31) to right stand (21) as shown.



ASSEMBLY INSTRUCTION (50-100505)
DO NOT TIGHTEN SCREWS UNTIL COMPLETELY ASSEMBLED

NOTICE DE MONTAGE (50-100505) NE PAS SERRER LES VIS AVANT LE MONTAGE COMPLET
INSTRUCCIONES DE MONTAJE (50-100505) NO AJUSTE LOS TORNILLOS HASTA QUE ESTE COMPLETAMENTE ARMADO

STEP / ETAPE / PASO 10..... ; . STEP/ETAPE/PASO 11.....

Attach brace (23) to (4) using screws (E) as shown. Attach rear bar (22) using two screws (F) as shown.

STEP / ETAPE / PASO 12

Connect back board (5) and book shelf (6) to frame using
eight screws (C) and one screw (E) as shown.

T




ASSEMBLY INSTRUCTION (50-100505)
DO NOT TIGHTEN SCREWS UNTIL COMPLETELY ASSEMBLED

NOTICE DE MONTAGE (50-100505) NE PAS SERRER LES VIS AVANT LE MONTAGE COMPLET
INSTRUCCIONES DE MONTAJE (50-100505) NO AJUSTE LOS TORNILLOS HASTA QUE ESTE COMPLETAMENTE ARMADO

STEP / ETAPE /PASO 13 e STEP /ETAPE/PASO 14 e

Attach cabinet back (11) using four screws (C) as shown. Turn desk top (1) upside-down. Attach (24) and (25) using
eight screws (K) as shown.

NOTE: make sure the position of the rollers on part (24)
matches the diagram.

STEP / ETAPE / PASO 15

Attach cabinet top (7) using (32) and screws (L) as shown.




ASSEMBLY INSTRUCTION (50-100505)
DO NOT TIGHTEN SCREWS UNTIL COMPLETELY ASSEMBLED

NOTICE DE MONTAGE (50-100505) NE PAS SERRER LES VIS AVANT LE MONTAGE COMPLET
INSTRUCCIONES DE MONTAJE (50-100505) NO AJUSTE LOS TORNILLOS HASTA QUE ESTE COMPLETAMENTE ARMADO

STEP/ETAPE/PASO16. . . . .

Install four cams (A) to cabinet top (7). Insert cam locks (B) into
cabinet walls (9) and (10) as shown.

Insert extenders (26) into right stand (21) as shown.

Carefully place desk top (1) onto desk frame as shown. Tighten
cam locks (B) and attach two screws (J) as shown.

STEP / ETAPE /PASO 17 STEP /ETAPE / PASO T8 .o

Attach printer stands (33) to printer shelf (3) using four  You may position the printer stands anywhere on the rear

screws (K) as shown. of the desk. Simply secure to desk top using fasteners (30)
as shown.




ASSEMBLY INSTRUCTION (50-100505)
DO NOT TIGHTEN SCREWS UNTIL COMPLETELY ASSEMBLED

NOTICE DE MONTAGE (50-100505) NE PAS SERRER LES VIS AVANT LE MONTAGE COMPLET
INSTRUCCIONES DE MONTAJE (50-100505) NO AJUSTE LOS TORNILLOS HASTA QUE ESTE COMPLETAMENTE ARMADO

STEP /ETAPE/PASO 19 ... ; . STEP/ETAPE/PASO20 ...

Install assembled cabinet drawers as shown. Attach keyboard tray (2) using four screws (I) as shown.

SAFETY AND MAINTENANCE
SECURITE ET ENTRETIEN « SEGURIDAD Y MANTENIMIENTO

- DO NOT stand on the desk. Do not use the desk as a stepladder.
NE PAS se mettre debout sur le bureau. Ne pas utiliser le bureau comme escabeau.
NO se pare sobre el escritorio. No use el escritorio como una escalera.

« DO NOT use this desk unless all bolts and screws are firmly secured.
NE PAS utiliser ce bureau si tous les boulons et vis ne sont pas bien serrés.
NO utilice este escritorio a menos que todos los pernos y tornillos estén bien sujetos.

«  Every 6 months, check all bolts and screws to ensure they are tight.
Tous les 6 mois, vérifiez que tous les boulons et vis sont bien serrés.
Cada 6 meses, revise todos los pernos y tornillos para asegurarse que estén bien ajustados.

10



LIMITED WARRANTY
GARANTIE LIMITEE - GARANTIA LIMITADA

PLEASE VISIT WWW.COMFORTPRODUCTS.NET FOR WARRANTY INFORMATION
ComfortProductswarrantsthisproducttobefreefromdefectsinmaterialandworkmanshipforone(1)year.ThiswarrantyismadebyComfortProductsonly
totheoriginalend-usercustomeracquiringtheproductdirectlyfromComfortProductsauthorizeddealersasshownbytheoriginalsalesreceipt.Theend-user
customerremedypursuanttothiswarrantyislimitedtorepairorreplacementofpartsatComfortProducts'optionwithinareasonableamountoftime.Comfort
ProductsreservestherighttorequiredamagedpartstobereturnedtoComfortProductsuponrequest.ConsentfromComfortProductsmustbeobtained
beforeanywarrantyworkisperformed.Thiswarrantyappliesunderconditionsofnormaluseanddoesnotsubjecttodefectscausedbyimproperassemblyor
disassembly;defectsoccuringafterpurchaseduetoproductmodification,intentionaldamage, fire, misuse,negligence,orexposuretotheelements;laboror
assemblycost.Thiswarrantydoesnotcoverthecostoftransportationorlabor.InnoeventshallComfortProductsbeliableineithertortorcontractforanyloss
ordirect,special,incidental,consequentialorexemplarydamages.ThisLimitedWarrantyisNOTapplicabletoend-usercustomerswhouseComfortProducts
forrentalpurposes.Thiswarrantyappliesonlytoend-usercustomersintheUnitedStates.Allwarrantiesarelimitedtotheoriginalpurchaserfornormaluse.The
weightcapacityisdefinedas150pounds(unlessotherwisespecified).Forclaimsorquestionsconcerningthiswarranty,pleasevisitwww.comfortproducts.
net/support. Or e-mail customerservice@comfortproducts.net.

MODEL: 50-100505

VEUILLEZ CONSULTER WWW.COMFORTPRODUCTS.NET POUR OBTENIR LES INFORMATIONS RELATIVES A LA GARANTIE
ComfortProductsgarantitqueceproduitseraexemptdedéfautsmatérielsetdevicesdefabricationpendantun(1)an.CettegarantiedeComfortProductsest
destinéeuniquementauclientutilisateurfinald'originefaisantlacquisitionduproduitdirectementaupresd'unrevendeuragréeparComfortProductscommeindiqué
surlerequdevented'origine.LerecoursduclientutilisateurfinalenvertudecettegarantieestlimitéalaréparationouauremplacementdepiécesaugrédeComfort
Productsdansunlapsdetempsraisonnable.ComfortProductsseréserveledroitdexigerleretourdespiécesendommagéesaComfortProductssurdemande.Le
consentementdeComfortProductsdoitétreobtenuavantl'exécutiondetouttravailenvertudelagarantie.Cettegaranties'appliquedansdesconditionsnormales
d'utilisationetnes’appliquepasauxdéfautscausésparunmauvaismontageoudémontage;défautsseproduisantapresl’achatdusaunemodificationduproduit,
desdommagesintentionnels,unincendie,unemauvaiseutilisation,unenégligenceoul’expositionauxéléments;colitdemaind’oeuvreoudemontage.Cette
garantienecouvrepaslecoltdetransportoudemaind’oeuvre.ComfortProductsneseraenaucuncastenuresponsableatitredélictueloucontractueldetoute
perteoudommagesdirects,spéciaux,accessoires,consécutifsouexemplaires.CettegarantielimitéeNES’APPLIQUEPASauxclientsutilisateursfinauxquiutilisent
ComfortProductsadesfinsdelocation.Cettegarantienes’appliquequ’auxclientsutilisateursfinauxauxEtats-Unis. Touteslesgarantiessontlimitéesal’acheteur
d'originepouruneutilisationnormale.Lacapacitédepoidsestde 150livres(saufindicationcontraire).Pourtoutesréclamationsouquestionsconcernantcette
garantie, veuillez consulter www.comfortproducts.net/support. E-mail : customerservice@comfortproducts.net.

MODELE: 50-100505

VISITE WWW.COMFORTPRODUCTS.NET PARA INFORMACION SOBRE LA GARANTIA
ComfortProductsgarantizaporun(1)afoqueesteproductonotienedefectosenmaterialesymanodeobra.Estagarantiaesséloparaelcliente-usuariooriginal
finaldeComfortProductosqueadquiereelproductodirectamentedelosdistribuidoresautorizadosdeComfortProductscomolodemuestraelrecibodecompra
original.Lasoluciénalcliente usuariofinalde conformidad con estagarantiaselimitaalareparacion osustitucién de piezasaeleccion de Comfort Products
enunplazorazonabledetiempo.ComfortProductssereservaelderechodeexigirquelaspartesdafiadasseandevueltasaComfortProductsbajopeticion.El
consentimientodeComfortProductsdebeobtenerseantesdequeeltrabajodegarantiaserealice.Estagarantiaseaplicabajocondicionesnormalesdeusoy
nosujetosadefectoscausadosporelmontajeodesmontaje,defectosquesurjandespuésdelacompradebidoalamodificaciéndelproducto,dafiointencional,
fuego,maluso,negligencia,olaexposiciénaloselementos,oloscosteslaboralesodemontaje.Estagarantianocubreel costodeltransporteomanodeobra.
EnninguncasoseraresponsabilidaddeComfortProducts,yaseaenagravioocontraidaporcualquierpérdida,directa,especial,incidental,consecuenteotipica.
EstagarantialimitadanoesaplicablealosclientesusuariosfinalesqueutilizanComfortProductsconfinesdealquiler.Estagarantiaseaplicaséloaclientesfinales
enlosEstadosUnidos.Todaslasgarantiasestanlimitadasalcompradororiginal parasuusonormal.Lacapacidad decargasedefinecomo 150libras (amenos
queseespecifiquelocontrario).Parareclamosopreguntasrelacionadasconestagarantia, porfavorvisitewww.comfortproducts.net/support.Correoelectronico
customerservice@comfortproducts.net.

MODELO: 50-100505

Comfort Products, Inc.

P.O. Box 999

Memphis, TN 38101
www.comfortproducts.net
customerservice@comfortproducts.net

e

comfort
~——— " products

11



